WOODBURY COUNTY BOARD OF SUPERVISORS AGENDA ITEM(S) REQUEST FORM

	ELECTED OFFICIAL / DEPARTMEN	NT HEAD / CITIZEN Mark J. Nahra.	Noodbury County Engineer				
	WORDING FOR AGENDA ITEM:	THEAD) OTHERS.	<u>, , , , , , , , , , , , , , , , , , , </u>				
	Award quotes for a precast	RCB culvert to replace county	bridge U-137 FHWA # 350913				
	ACTION REQUIRED:						
	Approve Ordinance □	Approve Resolution	Approve Motion ☑				
	Public Hearing	Other: Informational □	Attachments ☑				
L							
The	EXECUTIVE SUMMARY: secondary road department l		vert to replace a bridge located on Hancock				
Ave.	at the intersection with 290th	n Street.					
The	BACKGROUND: existing bridge is in poor con-	dition. The existing bridge will	ne replaced with a precast RCB Culvert that				
The will b	BACKGROUND: existing bridge is in poor conce installed by county staff.						
The will b	BACKGROUND: existing bridge is in poor con-	dition. The existing bridge will l Quotations are being presente					
The will b	EACKGROUND: existing bridge is in poor conce installed by county staff. FINANCIAL IMPACT: culvert is paid for with local fu	dition. The existing bridge will l Quotations are being presented	to the board for award. ONTRACT BEEN SUBMITTED AT LEAST ONE WEEK				
The will b	EACKGROUND: existing bridge is in poor conce installed by county staff. FINANCIAL IMPACT: culvert is paid for with local fu	dition. The existing bridge will liquotations are being presented unds.	to the board for award. ONTRACT BEEN SUBMITTED AT LEAST ONE WEEK				
The will b	EACKGROUND: existing bridge is in poor conce installed by county staff. FINANCIAL IMPACT: culvert is paid for with local function and answered with a reference of the prior and a	dition. The existing bridge will l Quotations are being presented unds. ID IN THE AGENDA ITEM, HAS THE COVIEW BY THE COUNTY ATTORNEY'S	I to the board for award. ONTRACT BEEN SUBMITTED AT LEAST ONE WEEK OFFICE?				
The will b	EACKGROUND: existing bridge is in poor conce installed by county staff. FINANCIAL IMPACT: culvert is paid for with local function and answered with a reference of the prior and a	dition. The existing bridge will l Quotations are being presented unds. ID IN THE AGENDA ITEM, HAS THE COVIEW BY THE COUNTY ATTORNEY'S	to the board for award. ONTRACT BEEN SUBMITTED AT LEAST ONE WEEK				
The will b	EACKGROUND: existing bridge is in poor conce installed by county staff. FINANCIAL IMPACT: culvert is paid for with local function and answered with a reference of the prior and that the board of support the prior and that the board of support the prior and the	dition. The existing bridge will Quotations are being presented unds. ID IN THE AGENDA ITEM, HAS THE COVIEW BY THE COUNTY ATTORNEY'S pervisors award the low quote	I to the board for award. ONTRACT BEEN SUBMITTED AT LEAST ONE WEEK OFFICE?				

Approved by Board of Supervisors April 5, 2016.

Quote # 24-2424

Oldcastle Infrastruct

Discounted

County: Woodbury City: Climbing Hills

State: IA

Project: Woodbury Co., Ia - 14 x 7 Precast Box Direct

Engineer: Unassigned

Bid Date: 3/29/2024 12:00:00 PM

oldcastleinfrastructure.com

Prepared By: Doug Schmidgall Phone: (320) 391-6336

Email: douglas.schmidgall@oldcastle.com

We are pleased to quote the following items for your consideration:

14 X 7 PRECAST BOX CULVERT

Product Name	Qty	Sales Price	Total Price
14 X 7 PC BOX CULVERT, 1'-3' OVERFILL (5,405 lbs/ft)	36	1,251.49/ FT	45,053.64
14 X 7 PC BOX END TYPE 1, 2:1 SLOPE	2	12,847.59/ EA	25,695.18
17'4" X 3'2" X 1' PRECAST CURTAIN WALL	2	1,676.70/ EA	3,353.40
1" X 10.5" DOUBLE EYE TIE - GALVANIZED (EST QTY)	32	72.72/ EA	2,327.04
JOINT MASTIC 1" - PER FOOT (EST QTY)	192	1.24/ FT	238.08
24" FILTER CLOTH - 6oz (EST QTY)	324	0.95/ FT	307.80
21 12121COLOTIC 002 (25. 9.1)		Subtotal	76,975.14

Total Quote \$

76,975.14

Sales tax is not included. Payment terms are NET 30 Days from Invoice Date. All past due accounts are subject to an interest charge based on 18% per annum.

Joint treatments are estimated and are sold by the box or roll. Prices are for material delivered to the job site or as near as truck can get under its own power. The prices and any discounts offered are based on this quote in its entirety. Any changes/reduction in the quantity must be approved by Oldcastle Infrastructure for the prices and discounts to apply.

Oldcastle Infrastructure Commercial Clarifications 03/23/2022

Special Products:

- 1) Any special product(s) and high-volume standards (collectively, "Special Products") will be invoiced on a mutually agreed upon in writing delivery date and ownership transferred, upon invoicing. Oldcastle infrastructure, inc. ("Oldcastle") reserves the right to require full or partial pre-payment for any Special Products ordered.
- 2) Special Products may not be returned.

- 3) If Special Product(s) cannot be accepted within 30 days of invoicing, a 10% storage fee will be assessed monthly unless otherwise agreed upon in writing.
- 4) All Special Products ordered as part of a cash sale must be fully paid prior to production.
- 5) A disposal fee of \$200/ton will be charged for all Special Products on hand over 90 days from the mutually agreed upon delivery date.

Delivery:

- 6) The site must be accessible by delivery vehicles under their own power. If the material is to be delivered and set by Oldcastle, acceptability to the site will be determined by the boom operator.
- 7) Freight charges quoted are based on full truckload quantities. Short loads will be subject to additional charges to cover the cost of delivery.
- 8) Deliveries canceled with less than 24 hours' notice are subject to full delivery charge.
- 9) Delivery includes one hour for offloading. Additional time in excess of one hour will be invoiced at an hourly rate.
- 10) A restocking fee of up to 40% may be charged on undamaged, standard products. Freight charges for returned product on Oldcastle equipment will also be applicable.
- 11) All Returns must be approved by Oldcastle. Returns will not be accepted after 90 days from date of purchase.

Pricing:

- 12) Oldcastle must be notified if a project requires prevailing wages as additional costs may be applied to the quotation.
- 13) Pricing is valid for 30 days from the date of this quote.
- 14) A 2% surcharge will be imposed on all Credit Card transactions, which is not greater than our cost of acceptance. A surcharge will not be applied to any ACH or Debit Card transaction.
- 15) Pricing remains valid for 180 days from order confirmation. For orders that have not shipped or transferred ownership to the buyer after 180 days, we reserve the right to implement a 1.5% quarterly price escalation fee.
- 16) If during the performance of this contract the cost of materials significantly increases through no fault of the seller, we reserve the right to equitably adjusted the price of this contract by an amount reasonably necessary to cover any such significant increase in the costs of materials. As used herein, a significant cost increase shall mean any increase in cost of materials exceeding 6% experienced by seller from the date of the contract signing.
- 17) Delivery pricing is based on Oldcastle Infrastructure's current fuel surcharge rate and is good for 7 days from the date stated on this Quote. Thereafter, Customer is responsible for paying Oldcastle Infrastructure's fuel surcharge rate in effect on each delivery date. Fuel surcharge rates are derived from pricing, as established by the U.S. Energy Information Administration's Gasoline and Diesel Fuel Index, published at https://www.eia.gov/petroleum/gasdiesel/

Additional Items:

18) Every effort has been made to provide an accurate take-off however, the quantities are not guaranteed by Oldcastle but provided for the buyer's convenience only. It is the buyer's responsibility to verify the accuracy of the project requirements and quantities. Changes in quantities, dimensions, or specifications from this quote may require an adjustment in price. Buyer agrees to pay per unit price for the actual number of units delivered.

All products and services listed on this Quotation are provided under OLDCASTLE INFRASTRUCTURE, INC's Standard Terms and Conditions located at: https://oldcastleinfrastructure.com/support/terms-conditions/

Company Name:	Signature:
Date:	Print Name:



QUOTATION

Quote To:

Woodbury County Secondary Roads Department

Quote #: 24-1331

Sales Rep:

Phone: (605) 201-2537 **Matt Carlson**

Email: mcarlson@cemcast.com

Quote Date: 3/25/2024

Job Location Moville, IA

Bid Date: 3/25/2024

Project:

14' x 7' Box Culvert

÷ .						A JA v
1	14' x 7' Precast Concrete Box Culvert Includes: Tie Bolts, Joint Mastic, and Filter Fabric.	LF	36.00	\$	1,395.75	\$ 50,247.00
2	14' x 7' Precast Concrete Box Culvert End Section Includes: Tie Bolts, Joint Mastic, Parapet, and Cutoff Wall	EACH	2.00	\$	23,713.88	\$ 47,427.76
			TOTAL	QUO	TATION	\$ 97,674.76

Material will be sold at the NET quoted prices. Quantities are not guaranteed. The delivery truck must be able to enter/exit the job site under its own power in full truck load quantities with the contractor to unload. 45 minutes of free unload time included. The prices on this quotation do not include sales tax. A restocking fee and haul charge may be applied to returned product. Returns must be approved in advance. A service charge of 1.5% per month will be charged on all past due accounts. This quotation is contingent upon Buyer's acceptance of Seller's Terms and Conditions of Sale, which is available at https://cemcast.com/wpcontent/uploads/2021/09/Terms- and- Conditions- Revd-09.07.21-04385391x9 FB59.pdf.